
The Code length 11

Figure 1: The graph for the code
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Aut
3840 = 28 · 3 · 5 Weight distribution

< 0, 1 >< 1, 1 >< 2, 5 >< 3, 5 >< 4, 10 >< 5, 42 > | < 6, 42 >< 7, 10 >< 8, 5 >,< 9, 5 >< 10, 1 >< 11, 1 >

Permutation Representation

⟨(5, 7), (4, 6), (3, 7)(5, 10), (3, 10), (2, 4)(6, 9), (2, 5)(7, 9), (2, 9), (1, 8), (1, 10, 8, 3)⟩

Group Structure
C2 × ((C2 × C2 × C2 × C2) : S5)

The theta of The lattice spanned by above is

Θ(q) = 1 + 2q + 10q2 + 20q3 + 42q4 + 144q5 + 228q6 + 160q7 + 170q8 + · · ·

1



Figure 2: The theta series
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